
©q g2K0h1w5K yKduQt4aA nSRotf1tBwKadr5eQ fL3LfCK.1 J NA4lclH Rr4iTg0hYtUsg SrLehsoefriv5eJdu.N k IMcaydqeM pwti5tEhh 0I1nffuivnOigtPeI vAWlegrePbkrqau U24.D Worksheet by Kuta Software LLC

Mgr. Kázik

Meno________________NÁSOBENIE MOCNÍN - B
Zakrúžkuj správny výsledok príkladu!

1) 54 ⋅ 55

A) 59 B) 516

C) 511 D) 56

2) 34 ⋅ 34

A) 38 B) 36

C) 311 D) 316

3) −3 ⋅ (−3)5

A) (−3)8 B) (−3)11

C) (−3)6 D) (−3)10

4) 26 ⋅ 24

A) 27 B) 28

C) 210 D) 24

5) −4

 

n3 ⋅ 3

 

n3

A) −12

 

n6 B) 6

 

n7

C) −8

 

n5 D) 6

 

n4

6) −2

 

m4 ⋅ 3

 

m4

A) −4

 

m6 B) 24

 

m5

C) 3

 

m4 D) −6

 

m8

7) 4

 

b ⋅ 3

 

a4

A) 12

 

a5b4 B) 2

 

a4b4

C) 12

 

ba4 D) 16

 

a5b4

8) 3

 

y ⋅ 4

 

x4

 

y2

A) 3

 

xy7 B) 12

 

y3x4

C) 9

 

y8x D) 4

 

x2y8

9) −2

 

x

 

y2

 

z4 ⋅ 2

 

y3

 

z4

A) −2

 

x2z7y B) −4

 

xy5z8

C) −6

 

x2z2y6 D) −6

 

y2z2x6

10) −

 

n

 

p4 ⋅ 2

 

m2

 

n2

A) −4

 

m5n5p5 B) 4

 

m5n4p2

C) −2

 

n3p4m2 D) −9

 

m6n5p6
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NÁSOBENIE MOCNÍN - B
1)  A 2)  A 3)  C 4)  C
5)  A 6)  D 7)  C 8)  B
9)  B 10)  C


